o2 & SAFA o] ofd A2
@4a2 + 24ab + 9b? @ x%2-14x+49
2 1
® a2—§a+§ @ 64a® + 32ab + 4b?

® 4x% + 4xy + y?

B

a’x* + 2abx + b? = (ax £ b)?
@ 4a? + 24ab + 962 # (2a + 3b)?
@ x?-14x+49 = (x-7)?
2 1 1)*
® - Za+g=(a=3)
@ 64a® + 32ab + 4b* = (8a + 2b)?

® 4x* + dxy +)% = (2x +y)?
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olg5to] 132 — 9 o] 7 ok Folth

132-9=(13+a)(13-b) =c

®1e @157 @ @163 O 166

132 -3% = (13 + 3)(13 - 3) = 16 x 10 = 160
a=3,b=3, ¢c=160
sa—-b+c=160




3. a-b=2V3L W, a®+b%-2ab-3(a—b)—-12 9] F}2?

@—6\@ @ 1-6V3 ® 2-643
@ 3-63 ® 4-643

(£4) = (a-b)*-3(a-b) - 12
=(2V3)2-3x2V3-12
=12-6V3-12=-6V3
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O (3ax - 3y)? @ 32?(3ax - 4ay)?

® 3a(3%ax — 4ay)? (@)3(1(3)6 + 2y)(3x = 2y)
® 3(9ax? - 4ay?)

27ax? — 12ay® = 3a(9x — 4y?)
= 3a(3x + 2y)(3x — 2y)




5. 324 7x—6=(x+3)Bx+[_ ) oIA[ |ore] gt
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3x2+7x-6=(x+3)(3x-2)




6.

2x2 4+ x—-6, x2-4, 3x2-4x-20

@ 2x-3 @ x-5 @x+2
@ x-4 ® x-2

B

2x2 +x-6=(x+2)(2x-3)
¥ -d=(x+2)(x-2)

3x% —4x - 20 = (x + 2)(3x - 10)
whehA BEL Q15 (x 4+ 7)ol




@ 2x-3y @ 2x-y @ 2x+y

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy — 2my?

-A+m=-1,m=3

“A=-2m,A=6

o 2x% — xy — Ay? = (x - 2y)(2x + 3y)




HA}7He moFo] who] Yo7t 4x? 4+ 12x + 9 < ), 3k H9] Zo]i=9

L2 @)2x+3 ® 3x+1
@ 3x-2

wreha] 9F H O] Zol= 2x + 3 o]t




9. &®b+2ab-2a-4, 2a%>+4a-2ab-4bE Q

PR
Q149

D a @ a+b @a—i—Z
@ a-b ® ab-2

B

tlo
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a*b+2ab—2a-4 =ab(a+2)-2(a+2)
= (a+2)(ab-2)

2a® + 4a - 2ab — 4b = 2a(a+2) — 2b (a + 2)
=2(a+2)(a-b)

ro




10. 20 - )2 & A5RofoE?

@ (2x+ 3y)(4x - 6y) @ (4x+ 6y)(2x - 3y)
® 2(2x+ 3y)(2x - 3y) (@)%(Qx + 3y)(2x — 3y)

® %(2x + 3y)?

= %(2)6 + 3y)(2x — 3y)




11. o5 F (x+5)* -2(x +5) - 15 9] 15 AL2?

@x—i—S @ x-5 @ x-1 @ x-7

B

x4+ 5 =12 xgstH
(x+5)2-2(x+5)—15=12—-2—15
=({-5)(t+3)
=x(x+38)
whebA] QI4= x, x + 8ot}




12, x2-9y? - 2x + 18y - 82 AFHF5}H?

@O (x=3y+2)(x+3y+4) (@)(x—3y+2)(x+3y—4)
® (x+3y+2)(x+3y-4) @ (x-5y+2)(x+3y-4)

® (x=3y+4)(x+3y-2)

B

x2—-9y? —2x + 18y -8
=x2-2x-9y? +18y -8
=x?—2x—(9y* - 18y + 8)
=x2-2x-(3y-2)(3y-4)
={x-(y-2)} {x+ (By-4)}
=(x=-3y+2)(x+3y-4)




13. o2 5 x%?% — 2%y —xy? + xy 9] A2

@x—l @ x+1 @ y+1 @ x+y

Py? =%y —xy® +xy = wy(xy —x—y+1)
=xy {x(y-1)- (-1}
=xy(x=1)(y-1)
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o2 x* - 81yt & QAE5) gF Ao}, o] w D Qtof gure
ZtA4=2] & FotHA?

w81yt = (2 + [P+ -y
O 13 @ 15 ® 18 @ 20 ® 24

xt =81yt = (2® + 9%)(x* - 9?)
= (x* 4+ 9y?)(x + 3y)(x - 3y)
~9+3+3=15




x=34+V8,y=3- V8L, (x+y)2-(x-y)? 9 FeUL,

® 1 @ 2 @3 @ ® 5

(6" 5% = (x" = y")?

= (@ 4y + 2 -y (& + Y - 5"+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3-V8) =1

S Axy)t =4




